ACCELERATED MACHINING
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Fv7  IHEE XD f (mm/rev)
7L—7 Ve (m/min) 012-013.99 o14-018 ©18.01 - 028 28.01 - 40
NDL 50 - 100 = 0.03 - 0.1 0.03 - 0.1 =
NDJ/G 80 - 140 0.05-0.1 0.05-0.1 0.05-01 0.1-0.2
NDL 50 - 100 = 0.03-0.1 0.03-0.12 =
NDJ/G 80 - 140 0.05-0.16 0.05-0.16 0.05-0.2 0.1-0.2
NDL 50 - 100 = 0.03-0.1 0.03-0.1 =
NDJ/G 80 - 140 0.05-0.1 0.05-0.1 0.05-0.1 0.1-0.2
NDL 50 - 100 = 0.03-0.1 0.03-0.12 =
NDJ/G 80 - 120 0.05-0.16 0.05-0.16 0.05-0.2 0.1-0.2
NDL 50 - 100 = 0.03 - 0.06 0.03 - 0.06 =
NDJ/G 60 - 100 0.05-0.1 0.05-0.1 0.05-0.1 0.1-0.15
NDL 50 - 100 = 0.03 - 0.06 0.03 - 0.06 =
NDJ/G 60 - 100 0.05-0.1 0.05-0.1 0.05-0.1 0.1-0.15
NDL 50 - 100 o 0.03 - 0.06 0.03 - 0.06 °
NDJ/G 60 - 100 0.05-0.1 0.05-0.1 0.05-0.1 0.1-0.15
NDL 50 - 100 = 0.03-0.15 0.05-0.18 =
NDJ/G 80 - 140 0.05-0.25 0.05-0.25 0.05-0.3 0.1-0.3
NDL 50 - 100 = 0.03-0.15 0.05-0.18 =
NDJ/G 80 - 140 0.05-0.25 0.05-0.25 0.05-0.3 0.1-0.3
NDL 80 - 160 = 0.03-0.15 0.03-0.15 =
NDJ/G 100 - 200 0.05-0.2 0.05-0.2 0.05-0.2 0.1-0.25
NDL 20 - 50 = 0.03 - 0.06 0.03-0.08 =
NDJ/G 20-50 0.04 - 0.08 0.04 - 0.08 0.04-0.1 0.06 - 0.13
NDL 30 - 60 = 0.03-0.1 0.03-0.12 =
NDJ/G 30 - 60 0.05-0.13 0.05-0.13 0.05-0.15 0.1-0.18
NDL 40-100 = 0.03-0.08 0.03 - 0.08 =
NDJ/G 50 - 100 0.04 - 0.08 0.04 - 0.08 0.04-0.1 0.06-0.13
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